[image: image1.png]Profit and Loss Account Balance Sheet

2001 2002 2001 2002

Turnover 480,270 590464 Building 47,500 45,000

Cost of Sales 399,684 506,028 Fixture and Fittings __ 12,500 14,000

( ) ) ) ( ? ) () )

Less Expenses Stock 11,349 13845

Rent of Land 4,500 6,800 Cash and Bank 7820 885

Wages 18,000 15,000 Trade Debtors 46,283 68,229

Advertising 6,300 10,500 ( ? ) ) ( )

Depreciation 5,000 6,000 Tax 7,359 6,950

General 4,200 10,000 Creditors 32,766 37,49

I () 10% Intereston Loan 2,000 2,000

Interest on loan 2,000 2,000 Proposed Dividends __ 15,000 25,000

Tax 7,359 6,950 ( 2 )

fopsed () () Co7 ) ()

(S i (D N (D L ()

Opening Capital 30,000 48,327
Retained Profitfor the year 18,327 2,186
Closing Capital __ 48,327 50,513




[image: image2.png]Cash flow statement 2002
Net cash flow from operating activities (*Note 1)




[image: image3.png]Returns on investment and servicing of finance

Interest paid -2000
Dividend paid -15000
Taxation -7359
Investing activities -5000
Change in Cash ( )
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Add depreciation

Less increase Stock
Less increase Debtors
Add increase Creditors
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Fill gaps with appropriate terms and numbers.

Consider an appropriate way to analyse the business of 2002. Come up with a story of the business 2002
Note some of incomprehensible (i.e., difficult to understand, possible errors, etc..) accounting figures and
realities

Prepare a detailed analysis for Mike to help him to judge the performance of his business.

Make clear any limitations of such analysis.
Imagine that the company is PLC, and your task is to analyse the performance of the company for
investors. How would you change your method of analysis?




